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XA 1250 7} = #E RES] 7} BEMHR2 GEKEETH) 1, 460, 356
XE1 250 7 S & E3 7 2 BEIH) 1,232,594
XA 1250 7} = #F SHAES E: 13249 (FEMA) 53,867 |
XE1 250 7 S & E & E HEOXHIZOVT 4,730, 00
i1 250114 | = 3 # IE% 3 ISERORHEEOLT 2189000 |
XA 1250 7} = #E SHAES EXi E 24 26, 84
XA 1250 7} = 7 SHAES (S EEBEFES MEABMZH (FEFMA) 15,323 |
1 250 7 S & I.fr:.far UBRYHLIRHAEHZH 142,23
XE1 250 7 S & @ LIFHABEMRY 1,828,527
XE1 250 7 S & B 7 102259 BEIH) 4,743,687
XE1 250 7 S & R 7 1 2249 1,857,538
XE1 250 7 S & B 7 10 249 3,181,954
XA 1250 7} = #E SHAES E: XA) 7.357
XA 1250 7} = #F E: XA) 3,57
XA 1250 7} = & EEE 3 DEXIE H (il @) RU1ASOEKRIZONT 119,83
XA 1250 7} = & - R EE 3 DEEX Y H (kL. @) RU1ASOERIZONT 251,614 |
X1 250 g = KB J;i] HEES 7 355,179 |
X1 250 B = JKERE A x £ 3 ERSY 1 AERAEIK /Y BET 41, 020, 000 |
X1 250 B = JKERE A X £ 3 ERSY 1 AEREEIK /Y BET 20, 281,818 |
X1 250 B = JKERE A X £ 3 ERSY 1 AVERAEIK /Y BET 51,188, 000 |
X1 250 g = KB Jii] X i 3 ERIS 1 AERERK/NERERET 4,102,000 |
X1 250 g = Kl Jii] X 3 ERIS 1 A ERERK/NERBRET 2,028,182 |
X1 250 g = KB A SHAES [, 5E5 104 129, 62
®FT1 250 7 S kB A ERES 5 A5 104 27,868
XA 1 250116 |7 = [RE& RDAE E3 x Eh MK N EHRE T 797,700,000
A1 250 7 S kB X e B ARk /N E A SR T 17.923. 636 |
XE1 250 7 = kB x 6 e P ARk /N E A SR T 198, 139, 00
XE1 250 7 = kB X 6 N AR K/ E R T .792.364 |
XE1 250 7 = kB & I t . 069, 806 |
XE1 250 7 = kB B I t . 928, 891
XE1 250 7 = kB EIHE B T t . 049,271
FE1 250 7 Y KB G LYYk 474,907 |
1 250 7 S kB # ES TEMEN CRRAFF_TH 7 EbEMEANEARELE 49,554,545 |
1 250117 |4 S kB # ES TEMEN SRRART—TH 7 B EMEKNERIBLIE 8, 496. 000 |
XE1 250117 | = kB # X TEMEN DRRART _TH 7 &M EMAEKNEHREELSE 4,955, 455
®FT1 250117 |7 S kB EXREEMLEEEE MR 45,093
XA 250117 [} = KB £ — ARG AN IE SR B 228 31,988
XA 250117 |7} = K3 #F & i (BHETE) 5 3 hFEEMIE TR UL 5 & 5T 8 (i 259 593, 686
XA 1250 7} = RBE R EE S & EQEFETH1 4ABMENCRARMOLBTETH 2 8 B EMEK/NEREZETE 60, 600, 000
E ] 250 7 S kB 5% PREE 0 6,224,134
1 250 7 S kB HKEEFRURY E L TH5E 8B HRH 65,547 |
XA 1250 7} = KB i EER U Y L THAG B HEH 1,275,938
XE1 250 7 S kB [EE PEEIE 8,644 |
X1 250120 |7 = KB KERATHAEEBRR GRKEELE) 7,998,191 |
®FT1 250 7 S kB 6% E3 ] 49,477
XE1 250 7 = kB K L ITHABEMRY 252, 951
XE1 250 7 = kB K EE HLTHABEHRY 2,362
XE1 250 7 S kB B AT EBERTE___ 297,000
XE1 250 7 S AR HRKEE LIFHEEMmEH 13. 660, 498
X1 250 7} = KEEE 06 % INFEEIE IR 52, 998
X1 250 7 = KGE R 06 % 6 h TR ARG .576
X1 250 g = KB 3 tohFER IR . 450
XA 250 g = KB Ve 3 FSHAE H— > B {249 (R A
X1 250 g = KB Ve 3 FSHAE H— ¥ THEET .22

EE: 1 | 20250122 DkEssEsgt ~—  DRE@E® 00 |[HRH) IR = > NEET .983 |
1 250 B = KB VE 3 B AE > & THEET .18
1 250 B = KB VE 3 B AE > & THEET . 485
X1 250 g = KB Ve % FHAE > ! HEET . 087
XA 250 B = KB > & 4 ( A . 198
XA 1250 7] = KB > | h (XM . 163
A1 250 7 ES AR # L THH 8 B2 13, 281, 351
XA 1250 7} = RBE HEE S TH28&MEN AR FME=THO BhEMEK/NEREETE 62, 700, 000
XE1 250 7 S kB B 113,025
X1 1250 7} = KB b 027
XE1 250 7 S kB hehO 102259 1,713,482
XA 250 g = KB N O 4R A — ffi 2249 1,706, 463
XE1 250 7 S kB N R A — 1 2249 1,866,618 |
XA 250 g = KB N O 4R A — ffi 2249 51,756
XA 250 g = KB NP O A — i e ] 212,027
A1 250 7 = KB E3 7 T BAREEIR) 206, 968 |
XE1 250 7 = kB EI] 7 I RBAKEEIE) 6,528,504 |
XE1 250 7 = kB E3 7 I RAKIEETE) 2,170,149
1 250 7 S kB NGB R 4 IH 102249 351,103 |
XE1 250 7 S kB 7K 3 1 58 4 I 338,257
XE1 250 7 S kB 7K 3 1 58 4 I 890, 688
XE1 250 7 S kB 7K 3 1 58 4 I 1,461,528
XE1 250 7 S kB 7K 3 1 58 4 I 855, 545
XE1 250 7 S kB 7K 3 1 58 4 I 379,020
XE1 250 7 S kB 7K 3 1 58 4 I 957, 605 |
XE1 250 7 S kB 7K 3 1 58 4 I 581,218 |
XE1 250 7 S kB 7K 3 1 58 4 I 4,808,730 |
XE1 250 7 S kB 7K 3 1 58 4 I 403,976 |
XE1 250 7 S kB 7K 3 1 58 4 I 1,299, 876 |
XE1 250 7 S kB K 3 1 58 4 I 609, 669
XE1 250 7 = kB L K 3 1 58 4 I 1,130,117
XE1 250 7 = kB B2 K 3 1 58 4 I 664, 047 |
XE1 250 7 = kB B2 K 3 1 58 4 I 399,187 |
XE1 250 7 = kB B2 K 3 1 58 4 I 326. 211
XE1 250 7 = kB B2 K 3 1 58 4 I 429,257
XE1 250 7 = kB B2 N I ER 4 C 276,025
X1 1250 7} = KB £ R OfE A — T 342, 630
X1 1250 7} = KB £ MR OfE A — T 362, 291
X1 1250 7} = KB £ MR OfE A — T 321,358
X1 1250 7} = KB £ MR OfE A — T 433,023
X1 1250 7} = KB MR OfE A — T 226,798
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KEHEERE

EEEE] AR #hH RS i B& Bi% e XHAE (HR) XHh&HE (H)
X1 1250 7] = KB /] i ffi 2249 . 208, 889
X1 1250 7] = KB /] ffi 2249 . 105, 025
X1 1250 7] = KB /] e ] . 358, 154
X1 1250 7] = KB /] e ] 172,283
X1 1250 7] = KB £ KEHEE BKIEET . 627, 867
X1 1250 7} = KB 1 A i 70, 500
X1 1250 7] = KB £ # B X 11 EMERMN 1 AFEKNERRETS 46, 479, 090
X1 250 7 = KGE R # FX 11 E RSN 1 AERKNERRBETE 118, 238,
X1 250 7} = KEE # F X ETE 11 EMEMN 1 AREKNERRELS L 647,910 |
FE1 250 7 Y KB ; 34,558, 333 |
X1 250 7 = KGE R # E: Fg) EmETEERBRREMEN 831,
X1 1250 7] = KB £ IZ £NFERIZONT 51,
1 250 7 S Kl #E E3 7 GRKIEET ) 490,649 |
5 1 250 7} 2 K8 > > TR K /NE BT E 13,171, 97
XA 250 7} = KB £ 7} i T 24 . 267,91
XA 250 7} = KB £ 7} i T . 793,522
XA 250 7} = KB 7} i T . 841,395
XA 250 7} = KB £ 7} i T 14,209,113
X1 1250 7] = KB £ 7} i} T . 081, 006
X1 1250 7] = KB 7} i} T . 205, 067
X1 1250 7] = KB #E 7} i} T . 825,672 |
XA 1250 E = KB i § BEERA B 490, 104 |
FE1 250 7 = KB  EERER K it 1 R ETH; 623,338 |
X1 1250 7] = KB KERERT B 4,569, 300 |
X1 1250 7] = IKE#E 6K B R Y i 202, 13:
X1 1250 7] = KB £ '167% % Y i 1,479, 721
X1 1250 7] = KB /R O 11 121,57
X1 1250 7] = KB #a 7K B R Y 913,798
X1 1250 7] = KB £ #6 7K B R Y 524,412
X1 1250 7] = KB £ #EIKE 1,994, 249
X1 1250 7] = KB E: 3 84, 936
X1 1250 7] = KB £ B 7} = 5, 765, 693
X1 1250 7] = KB £ B 7} = 4,293, 860
X1 1250 7] = KB £ B 7} 2 2,283,792
X1 1250 7] = KB 2iEE #EIKE 3,262, 088
FE1 250 7 = KB 2HH 'Z.far & 1,759,222 |
FE1 250 7 = KB #E fth & % R [ 189, 200 |
FE1 250 7 = KB TEES 1 = 495,000 |
FE1 250 B Y EAMEH 14,092, 941 |
X1 1250 7] = KB £ E3 262, 645
X1 1250 7] = KB £ 7} i} 220, 700 |
X1 1250 7] = KB 7} i} 9, 656, 826
X1 1250 7] = KB £ 7} i} 351,103
X1 1250 7] = KB £ S 6 22T 21,593
X1 250 7} = KB DM —ER ( EWS Y —ER) FAHOBBEIILNIZONT 599
X1 1250 7] = KB /e ffi 2249 183, 276
X1 1250 7] = KB hep O {2249 60,176
X1 1250 7] = KB hep O ffi 2249 1,494, 006
X1 250 7 = KGE R D] ] .037
X1 1250 7] = KB hep O {2249 . 387
X1 1250 7] = KB hep O e ] 1,636, 795
X1 1250 7] = KB hep O ffi 2249 1,707,068
FE1 250 7 Y KB hen 1224 7,709 |
X1 1250 7] = KB hep O e ] 1,882,129 |

[ 1 | 20250131 KGEFERSG ~ EEESR 000 [ERH B2 7 SKIEE T ) 6,820,983 |
1 1250 7] = KB £ B KEETH) 6,622, 17
1 1250 7} = BAMZH BH £ 5 HEQOBBEIHICOLNT 61
X2 250106 |7 = KB £ 8% 5 18 C 164, 566
X2 250106 | = KGE R IE CRRENAZTH3 3HMERMN 1 AATEAKNEHRZEIE 80,597, 272
2 1250106 |7) 3 KB it T ERENE=—THS3 3FMHEMIN 1 AFERKNERRETSE 53, 089, 000
X2 250106 | = KGE R f T XEJIE-TH3 3FMEMN 1 SAEANEHRZETSE 8,059, 728
X2 250106 _|7] = KB £ 8% 5 18 X 47, 608
X2 250106 _|7] = KB |#7} 1,171,283
X2 250106 _|7] = KB IR OEA— T fifi 2249 534, 306
X2 250106 [} = KB N O 4R A — T ffi 2249 469
EH2 250106 |} Y KB NP O A — T 1224 7561, 861 |
X2 250106 _|7] = KB IR OEA— T fifi 2249 1,301, 17:
X2 250106 [} = KB N O 4R A — T ffi 2249 1,015, 74(
X2 250106 [} = KB N O 4R A — T ffi 2249 177,87
X2 250106 _|7] = KB IR OEA— T fifi 2249 1,790,792 |
X2 250106 _|7] = KB IR OEA— T fifi 2249 166, 072 |
X2 250106 |7 = KB IR OEA— T fifi 2249 1,214, 501
X2 250106 _|7] = KB IR OEA— T fifi 2249 1,426, 74
X2 250106 |7 = KB £ B 8% SH6 ERE E0Y. ZH LMD WNT 23, 637
X2 250106 _|7] = KB £ B KERAT fifi 22 KEETHE) 1,738, 850
X2 250106 _|7] = IKE#E EEER 5% E: 3 EDEEIZ LN DT 26, 842
2 250106 |7) 3 JKERE EEE BET 17,370, 833
X2 250106 |7} ES AARHIH BRI HKERFHR UYL TH S B 3,426, 866
X2 250106 _|7] = BEAMZH [ B34 #EK B UHYH L TRAR MR 1,936, 482
X2 250107 |7} = KB £ 301,917
EH2 250107 | Y KB i 932, 605
X2 250107 |7} = KB £ R EEEER 479, 429
X2 250107 |7} = KB £ i 117, 660
X2 250107 |7} = KB hep O T fifi 2249 425,344
X2 250107 |7} = KB hep O T fifi 2249 345,722
X2 250107 |7} = KB hep O T fifi 2249 251,534
X2 250107 |7} = KB hep O T fifi 2249 399, 954
X2 250107 |7} = KB hep O T fifi 2249 141, 755
X2 250107 |7} = KB hep O T fifi 2249 399, 147
X2 250107 |7} = KB hep O T fifi 2249 157, 008
X2 250107 |7} = KB hep O T fifi 2249 710, 395
X2 250107 |7} = KB hep O T fifi 2249 723,792
X2 250107 |7} = KB hep O T fifi 2249 920
X2 250107 |7} = KB hep O T fifi 2249 216,298
X2 250107 {7} = KB hep O T fifi 2249 625, 892

- 12/51 -



KEHEERE

EEEE] AR 3L H RS i £ Bi% T XHAE (HR) XHh&%HE (H)
X2 250107 |7} = KB DR OEA— T fifi 2249 . 326, 758
X2 250107 |7} = KB IR OEA— T fifi 2249 . 320, 839
X2 250107 |7} = KB IR OEA— T fifi 2249 . 568, 977
X2 250107 |7} = KB DR OEA— T fifi 2249 . 573, 462
X2 250107 |7} = KB IR OEA— T fifi 2249 232, 250
X2 250107 |7} = KB NP OEA— T fifi 2249 665, 057
X2 250107 [ = KB N O 4R A — T {2249 7.217
X2 250107 [ = KB N O 4R A — T ffi 2249 104,
X2 250107 [} = JKERE NP O A — I fifi 2249 666,816 |
X2 250107 [} = JKERE NP O A — I fifi 2249 720, 452 |
X2 250107 |7} = KB NP OEA— T fifi 2249 1,188,992 |
X2 250107 |7} = KB £ KEEH K3 T 13249 GRKEETE) 2,795, 48
X2 250107 |7} = KB i X7 BER 47, 411, 309
X2 250107 |7} = BAMZH £ [k EEHRURYH L ITBHASEFHEH 2,637,553
X2 250108 |7} = KB £ 7} it ST ffi 2249 777,720
X2 250108 |7} = KB £ 7} 5% ST {2249 2,302,311
X2 250108 |} S Kl #E ERETRR HEASRIRETH 1 0 FEMEASRARILRMET H 2 4 FEMEANEBRIE 4.982, 759 |
X2 250108 |7} ES IKEHE 2 EIR A KB TRER A R IE T B 5 6 B2 38,
X2 250108 [} = Kl e #KE B 5B 224 1,37
X2 250108 |4 = 2 B A ) _GRKIEET ) 4,618,
X2 250108 [} = EXE N ORRFHER=TH 1 1 EMEMEKNEFHRTE 35, 038,
X2 250108 |7 & ESSEE [12 B (i 259 7,878,293
X2 250108 |7} = AHZH EXE ] 4,789, 535
X2 250109 |} = 3 a £ () (128%) OFH (4. @) RUTAFDERIZDONT .584
X2 250109 |7} = IKE#E 6 REEH 324 1, . 297
X2 250109 |} = KB [#KEE R T HLT EXEEE] 2,012,918
X2 250109 _|7) = KB hep O — T fifi 2249 . 169
X2 250109 | = KGE R NP OEA— I ] 1,143, 750
X2 250109 _|7] = KB NP OEA— T fifi 2249 593, 953
X2 250109 [} = KB N O 4R A — T ffi 2249 .318
X2 250109 _|7) = KB IR OEA— T fii 2249 810, 387
X2 250109 |7} = BRI # [ KEEHR U HL T EXE ] 10, 188, 239
X2 250 7 = & TEE £ DEIUEHICLBELTLAES (128%) OFH GEX, ##) RU1ASOHERITOVT 53,086
X2 250 7 & & a LB £ DB SH1ES (128%) OFH (L, @) RU1ASOBERIZONT 121, 600 |
X2 1250 7} = KB # BEE WEHEE 18, 880, 401
X2 250 7 ES KB E3 5% E FERBEBEOBBEXILNCDONT 13.51
X2 250 7 = KGE R HESREETH 1 Bk, DRRMAHN—TH 2 BhEME KN ERRETE 25, 616, 20
X2 1250 7] = IKE#E 7} BRI RE T BAAE # 12,921, 201

2 1250 7} 3 KEE BRI AT REEE 1,623,799
X2 1250 7} = KB £ SFHAES SHM6EEATRAES B fff 32 # 26, 84(
X2 250 7 = KGE R HKEEBRURY H L THRARE MR 1,468,392 |

250 B = KB R ISR T [E '%%u FEERENBEQEREZILNI=DONT 3,951 |

20250 7} 3 IKEHE BHE I KEERT H{fi 24 (RKEBEIR) 2,319, 363

20250 7 3 ZGEE I 5% |SHe EEREEBEQRBEILNDONT 246,083

20250 7} 3 AR [ # [$67K & H i 2249 6,767, 475

1250 7] > REE - BAE £l R IL— 3 EAMOERRI—TH1 8 FEMEMM 2 hFEKNERZETE 97, 100, 000

X2 250 g = KB N OfE A — IESHABBE MR 301, 996
X2 250 g = KB N O 4R A — T {2249 13, 261
X2 250 g = KB N O 4R A — T ffi 2249 858, 982

X2 250 g = KB N O 4R A — T ffi 2249 1,031, 20

X2 250 7} = IKE#E MR OfE A — T 1,510, 24
2 1250 7} 3 IKEHE IR OFEA— T 1,613,811 |
1250 E = KB NP ORA— T 858, 100 |

20250 7} > KEE N OEA— T 918, 07:

20250 Vi 3 KIEE NP OFEA— T 870, 750

20250 Vi 3 KEE NP OFEA— T 784, 391

1250 7} 3 KE NP OFEA— T 1,118,045

X2 250 7} = KB £ R OfE A — T . 378
X2 250 7} = KB £ MR OfE A — T . 037
X2 250 7} = KB £ MR OfE A — T 634, 290
X2 250 7} = IKE#E MR OfE A — T 776, 681

2 1250 7} X KIEE NP OFEA— T 1,778, 647
X2 250 7} = KB £ R OfE A — T 1,946, 787
X2 250 7} = KB MR OfE A — T 1,402, 33
X2 1250 E = KB RO A— T 833,102 |
X2 1250 E = KB RO A— T 755, 381 |
X2 250 7} = KB £ MR OfE A — T 650, 796
X2 250 7} = KB £ MR OfE A — T 892,824
X2 250 7} = KB £ MR OfE A — T 140, 466
X2 1250 7] = KB £ E3 KERET i 655, 569
EH2 250 7 = KB i K i 33 H 7S 22,471, 752
X2 1250 7] = IKE#E ELES] 7K 5 i 5% T 620, 217

2 1250 7} 3 JKEHE KB 2 Y 688, 720
X2 1250 7] = KB £ HBKEREHERURY I 451,903
EH2 250 7 = KB KEEATRHAE EETEH) 169, 753 |
X2 1250 7} = KB £ A KB & VR Y {2249 1,789,576 |
X2 250 g = Kl EEHR VY 1 249 911,17
X2 250 B & JKERE BEEHERURY i 2249 . 248,500 |
X2 250 g = Kl EE R R VY ] . 398,902 |
X2 1250 7] = KB £ KR ERATHHAAEE BAEETE) . 253, 31
EH2 250 7 = KB KRR ERATHAAEM EETH) 331,977 |
X2 250 7} £ #E ERAE ISR [HeTAkd . 833,098
X2 250 7 & AHX # 1 HEERUERY H ] . 344,637
X2 1250 7] 2 X IE 2 1 BEFERURY H fili 5249 10, 832, 453
X2 1250 7} = ARH 2 £ B3 EEBRUIY H ffi 2249 . 390, 522
X2 250 7 = KERE HE E: FERMBXN BETE) HmEEEXBRREMEY 664, 303
X2 250 7 ES IKEHE ES 7 IHEAEMmRY (RKEEIH) 1,063, 758

2 1250 7} 3 IKEHE & XEE=TEHIEMEN CRRMBE=TH 4 BHAMEKNERRETE 44,976, 694
X2 1250 7] = KB £ f& 7] B RE T RABE T 3,841,473
X2 250 7 = KGE R & 5706 ALK E AR T B % SRat 2 5t B {0 2249 2,948, 147
X2 250 7 = KGE R FFYUE TR HEASRESA=TH14BMENCRRESR=TH 1 2 B EMEKNEBEIE 47,867,582
X2 1250 7} = KB £ EEES K s 5% 46 FE AR 1B T ] 960
X2 250 g = KB f& NROFEA— IESHAB MR 703,13
X2 1250 7] = KB £ f& DR OFEA— T fifi 2249 1,849,032 |
X2 1250 7] = KB £ f& DR OFEA— T fifi 2249 2,138, 33
X2 250 7} = KB f& NROEA— T fifi 22 .13
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KEHEERE

HERER PR B RS X E3 i R XINE (HR) XIE8E ()
X2 250 7 = KERE 33 N OE A — S IR L5 A 8 R 89, 830
X2 250 B = KE 33 NI C1E A — 5 5110 T 5% oA £ B 1l 2249 1.695. 763

2 250 7 3 KEEE 33 N O E A — TH% 58 B2 116, 629
X2 250 g = KB IKIEEH BREAT 13249 GRKIEETEH) . 973, 543
X2 250122 = KB KB ERAT 24 _(GRAEELIE) 631,329
X2 250 B = KE 6 K B B U Y tH LT 5 5 £ B (i 5240 768,507
X2 250 B = KE 71 UHmUYH LT 1224 ,836,612
X2 250 B = KE 71 UHmUYH LT 1224 384, 457
X2 250 B = KE 71 UHmUYH LT ] 1,043,692
X2 250 B = KE 71 UHmUYH LT ] 1. 366. 698
X2 250 B = KE 71 UHmUYH LT 1224 265, 805 |
X2 250 B = KE i UHmUH LT ] 1,009, 75
X2 1250 7} = [mma R EE S ] ATHA2B WA oRREEF—TH4 3EMEMIN 4V FRKNERRETS 138, 600, 000 |
X2 250 g = KB 1B % N6 FEWEE XD T 83,210 |
X2 250 B = KE 18%% 06 FEHEEH 679,853 |
X2 250 g = KB 8% 06 FEBEE 93,24
X2 250 B = KE K EE & U 1,158,799
X2 250 B = KE FE § 2,988,168
X2 250 B = KE KIETE 15%¢ 16 % 54,753
X2 250 B = KE B EaI 2,577,958
X2 250 B = KE 15%¢ 16 % 498,304 |
X2 250 B = EES G # KEE R U 2,565,931 |
X2 250124 & EEY [ & [ j 8,229, 101
X2 250 B = KERE i 16 % 25.487.71
X2 250 7} = KEE S EEEER 06 % 1,002
X2 250 B = KE 16 % 7,633

2 250 7 3 KB 6 E 3,098

250 B = KGE 6 2,253,319
20250 7 > AR [ F3 16 % 422,059

20250 7 3 KR A6 EERT 4 BKEF € 5 Bt & st 2270 13,640 |

20250 7} 3 KEE 4 6 4F ot - BKEHE S B X E 24 58,146 |

1250 7} 3 JKEHE g GRS 59X - BKEME SRAHEEEMRZH 86,364 |
X2 250 7] = TKE 1] £ TFKE— % FHIZDWLT . 46
X2 250130 | = KE  EEEER KEREAT THZH 3 3,121,795
X2 250130 = KE [k EBRER Hh 1,313,421
250130 [} = JKiE£F NP ORA— T 13,275
20250130 |7} 3 KEEE N OEA— T 38,556
20250130 |7} 3 KR N OEA— T 11,181
20250130 |7} 3 KEEE N OEA— T 224,348
250130 |7 3 KGE R N OEA— T 473,968
X2 250130 |7} = KB R OfE A — T 30, 260
X2 250130 [} = KB MR OfE A — T 77, 754
X2 250130 [} = KB MR OfE A — T 50, 442
X2 250130 [} = KB MR OfE A — T 71, 471
X2 250130 [} = JKiE£F R OfE A — T 86, 586
(B 2 | 20250130 DkiEshsEmet ~— DkEEESH 2 [HX# EHEE BT H AL S22 4,144,730

2 2501304 = JKGE B KEREAT 122 # 74,086

2 250130 | = EES # KB R LT 10,044, 333
X2 250130 & EEY [ & U T 19,439, 235
X2 250 B = KERE f HE 468, 725
X2 250 B = KE 3 # T3 FJl 14,399
X2 250 B = KE S f £ 2,019,007
X2 250 g = KB # 8% E 3 1 2,136
X2 1250 7] = KB £ REX 17,370, 833
X2 250 7 & JKEEE 5 799,912 |
X2 250 7} = BARMZH # K T — 1.10
E3 250106 |7} = KB RS # 1
Ed 250106 = K 15%¢ 706 FEHE 903, 761
Ed 250106 = K 5706 A 8,449, 444
Ed 250106 = K 3 15%¢ E BT 784
Ed 250106 = K 3 BAEEERY 673,096
Ed 250106 | = K 3 ’me EGR U 259, 808
Ed 250106 |} = K KIEEH ki LHH 3,360, 560
E3 250106 | & KGE R BRI HE 8% B 6 FEME 32,712
53 250106 | = kB BKTH I.fr:.far BEFBRY 359, 407
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